Confronta e completa

250 h ....... 25 dak perché | 25.000 ....... 250.000
34.000 u.......... 4 dak | perché
230 uk ......... 2.000 h | perché
630da.......... 50 h |perché
67 dak ......... 6.700 h | perché
56 hk ........... 5.600 h | perché
180 da .......... 200 u | perché
600 uk ........... 7 hk |perché
1.000 da ...... 10 uk |perché
750 h ......... 7.500 da | perché
450 uk .... 50.000 u |perché

Trova il precedente e il successivo. Prima individua il numero

PRECEDENTE

SUCCCESSIVO

3 uk

5 dak

2 hk

5 uk + 5u

7dak + 9da + 9u

5dak+10u

4h

60da




